or

-or

Cl
gboooooodan
cOo0obOo0ooObOO0oooOobIODcOoOoOoOoUoobOobooOooDoo

pol
B(r) =—VQ(C; 1
(r) = (Cir) (1)
O Biot-Savart 00 OO0 O0O0O000O00OOO

ggad
—
PPOPOOOOOODOOPP =6r000000000000000O000O

Q(C,P") — Q(C,P) = VQ(C,P) - 6r + O((67)?) (2)
doooCc'oooo Cco -sr000000000000O0DOOOOO
Q(C",P) — Q(C,P) = Q(C,P') — Q(C,P) = VQ(C,P) - dr + O((51)?) (3)

0000000 C,C’000000000000000000D00O SOoOoOooooag
000000 SO00000000 SO00000000000000000000

Q(S,P) = Q(C, P) — Q(C,P) + (5, P) (4)
00000000 POOOODOOOSOOOODOOOOONS,P)=00000

0000000000000 000000000000000000000000000
00000000QS,P)00O0
000 CO0000000000 Py, bOMOODO0O000D00000:000000
P, 00000000 » 000000000 Ar;=7r,41—-m000000P, 000000
Ar;0$r00000000000 AS; 00000

Q(S,P) = lim > Q(AS;,P) (6)

ATZ‘%O i

PODOOOOOOO AS;ODO0C0OCOO



e AS; 0000 P, 00 POODODOOOOUOOOOOR=7r—1;
e AS;00D0D0D0OCODO AS;, 00O
e AS;00D0D00ODODO ny

oaoo AS R
i - Iy
UASP) = — == (7)

O00000OR,=|R;|M0O000000ODOOOOOODODO
AS; = |dr x Ary
00000000 n; 0%r xAr, 0000000000CO
AS;n; = or x Ar; (8)

O000o0ooooooooo (7)o

Q(ASi,P):—((STX}A%;i)'Ri ()
000000000 (AxB)-C=-C-(AxB)=—(CxA)-BOODOOO (9)00
g
Q(AS;,P) = (W) - or (10)
0oooooooooo)bo (moooo 3)uoooooo
VO(C,P) = lim AT‘ZXR [ dr'x 1'/—‘31") (11)

ATZHO

000000000 pel/4r) 000000000 Biot-Savart 00000000000
00 (1)0oooooopoooooo



